QUADRATIC EQUATIONS 3
OBJECTIVE: Solve quadratic equations by factorising – Extension (Sheet 1)
	(2x + 4)(3x + 2) = 0
	6x² + 16x + 8 = 0
	(4 - 2x)(3 - 2x) = 0

	(3y – 7)(2y + 4) = 0
	6y² - 2y – 28 = 0
	4x² - 14x + 12 = 0

	(2x + 9)(5x – 1) = 0
	10x² + 43x – 9 = 0
	(3a + 4b)(2a – 2b) = 0

	(4a – 6)(a – 7) = 0
	4a² - 34a + 42 = 0
	6a² + 2ab – 8b² = 0

	(y – 11)(7y + 4) = 0
	7y² - 73y – 44 = 0
	(x + 3)³ = 0

	(7 - 2x)(4 + x) = 0
	28 – x - 2x² = 0
	x³ + 9x² + 27x + 27 = 0

	(2y + x)(6y + 3x) = 0
	12y² + 12xy + 3x² = 0
	


QUADRATIC EQUATIONS 3 (cont.)
OBJECTIVE: Solve quadratic equations by factorising – Extension (Sheet 2)
	x  = -2     or

      x = - ⅔
	x = 2
x = 1½
	

	y = 7/3   or
       y = -2
	x = -3
	

	x = -4½
x = 1/5
	a = b
a = -4/3b
	

	a = 1½
a = 7
	
	

	y = 11
y = -4/7
	
	

	x = 3½
x = -4
	
	

	x = -2y
	
	


